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����	%��*�
[1] +�� [2] ' , 
�� ��
[3] � - �	 .
 �� [4] / � �0 ' 
��

  "�� Who propounded the 'Need 

Hierarchy Theory' of Motivation ? 

[1] Hull [2] Maslow 

[3] Atkinson [4] Thomson�

��� ����������� '��� 
�� 	�,�1
2� 3%�4�5� � "�	���
	2������ �2���� 6�� � +2�� +2�� +2�� +2� ��+,�*�
�
[1] �� 7�1
� +�%� � �
[2] � �4 % �8 � �� �
[3] � # �� � ���� � �
[4] 
 '�9 �' ���

  ��� Which of the following is not a 

projective technique of personality 

assessment ? 

[1] Word-association 

[2] Sentence completion 

[3] Expressive movement 

[4] Sociometry�
��� ����������� '��� 
�� 	�,�1
�� �	 � ��:�

"�������	 � � +2�� +2�� +2�� +2� ��+,�*�
[1] - ; �0 < 2 �	 � ���� �� �� � ��� �� 
�6��� � 	 � � ��
[2] � � �� � 	 � �� �� �� �, 	 � 2 �	 �� ��
[3] " � 5'
 � � � =-� +� � � 
' �9
 � �� �	 �� ��
[4] � 	 � �� � 2� �� � �� � � 	 �'  > ���� �� �

  ��� Which of the following is not an 
extrinsic motive ? 

[1] Competing in sport for trophy 

[2] Doing job for salary 

[3] Doing social service for self-
satisfaction 

[4] Buy one get one free�
#�� ���
���	� ".�����6�� �� 2��#� � � �?��/��%���� 	�� @@@@@�

' ���� +� �  � ��%� � �� '� � � �� �� 9� �� � +, � !�
[1] �  �( � [2] " � � ���' � ��
[3] " � � �� A� � �� [4] 3 %� 4� 5� �

  #�� Thematic Apperception Test is used 

to measure the ……….. of students. 

[1] Intelligence [2] Aptitude 

[3] Attitude [4] Personality�
$�� ����������� '�� � 
�� 	 �,� 1
�� 	 /��� 
'�%��9� �

	��
������'���
 +2� �+2��+2��+2��+2� � �+, � * �
[1] % +� " 
� �  �� �� 5�.� �	 � � �� +, !�
[2] % +� ��� �
/ � �� � 	 2 � ' �B ��� �� 	 � � "� C��

9 2� �� 	 �� � �2 	 �� 	 ��� � � ��� � 	 � � ����
�� � �� � �	 � � �� +,! �

[3] % +� �� �� �� # �� 	 2� � 
/ �� �% �� � � ' � � � � ��D � 2%�
��� � �� � �� �� � �	 2 � ��'� �� � � �� �+, !�

[4] 
 '�% �� 9 �� 	 � � " � � �� � '�� � 3%� 4� � �� �� �
" � , �� �� � �� �
 � �� E�� �� � +�� �+, !�

  $�� Which of the following statement is 
not correct with reference to 
adjustment ? 

[1] It creates imbalance. 

[2] It motivates to change the life as 
per the demand of the situation. 

[3] It gives ability to bring desirable 
changes in the conditions of 
environment. 

[4] In the absence of adjustment one 
is surrounded by tension and 
anxiety.�
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[1] 
 � �� � 21�� ��2% � �
[2] �8 � � 1
 � �& % �5' 	�
[3] ' 8 �� 1
� � & %� 5' 	� �
[4] " � , �� ��� 	 1
� � & %� 5' 	�

  %�� According to Piaget's cognitive 
development theory, the 'ability of 
reversibility' develops during which 
developmental stage ? 

[1] Sensory motor 

[2] Pre-operational  

[3] Concrete-operational  

[4] Formal-operational�

��� ����������� '�� � 
� � 	�,�1
�� �'���� 
 +2� � +2�� +2�� +2�� +2� �
+,�*�

�� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1�

� '� �9	 � �� 	 � 
� 	 2
� '� �9	 � �� 	 � 
� 	 2
� '� �9	 � �� 	 � 
� 	 2
� '� �9	 � �� 	 � 
� 	 2 ����

" � 
/ ��� B" � 
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/ ��� B" � 
/ ��� B ����
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/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��
& '& '& '& ' ����

[1] �+� � � �� '� " ��� 6��
� �� 6��

[2] �+� ��� � �� '� � �8 �' 	 ��

� � � � �� �� 

[3] 
� �%� � �� � � �� '�
�G9� � �� � ��� � 	 ��

[4] " 6% �
� %� � �� '�
+2� ���

1� � 2
� 2 �" � 
/ �� �
�
1� ��B � �2 �� " � 
/ ���
�
1� � +� 2� " �
/ � ��
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  ��� Which of the following match is not 

correct ? 

Erikson's Stages of 

Psycho-social 

Development 

Serial 

Number of 

Stages 

[1] Initiative Vs Guilt 

�
[2] Identity Vs Role 

Confusion 

[3] Autonomy Vs 

Shame and Doubt�
[4] Industry Vs 

Inferiority�

� 1�Stage 3�
�
� 1�Stage 5�
�
� 1�Stage 1�
�
� 1�Stage 4�

�
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(���� 
�� 
����6��� � +2�� +2�� +2�� +2� �
+,�*�
[1] � �+�� ' � � �
[2] � �� � � �� �
[3] 
� �� �" � �8 � �� � �
[4] � �� � ���

  
�� Which of the following elements is 

not related to Skinner's operant 

conditioning theory ? 

[1] Extinction 

[2] Discrimination 

[3] Spontaneous recovery 

[4] Reinforcement�

&�� ����������� '��� 
�� 	�,�1
�� 	 /��� "����A����
	��
������'���
 +2� �+2��+2��+2��+2� ��+,�* �
[1] "����A���� '��� "�������#��5'	 1�������� 5���	�

����� =���� ��H� �9��2� +,!�
[2] "����A���� �8#�� ��� 
	���5'	� 
�� �8#�� ���

�	���5'	 �+���
	�2 �+,!�
[3] "����A���� '��� 3%�4�1� 
� � 
���6�� ��%� �

9����+, !�
[4] "����A���� 9.'9��� ���� "�9��� ����� ���

+���2� +,!�

  &�� Which of the following statement is 

not correct with reference to Attitude ? 

[1] Attitude has motivational-

affective characteristics. 

[2] Attitude can range strongly 

positive to strongly negative. 

[3] Attitude have a subject-object 

relationship. 

[4] Attitude is innate and acquired 

both.�
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 +2
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 +2
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[1] � �	 � 
� ' �� � " �� �� � ��	 � �� 	 � � � 	�

� 5��� � +, ! �
[2] � �	 � 
� � 	 � % �� A �I D 	 � �� �C�� " �  
� #� �

	 � � �� +,! �
[3] � �	 � 
� �	 �
 � �%2 � �� � & %� �+,!�
 

[4] � �	 � 
� 	 � � �� �� �.�� " �% �' � " .� 
� � �� � 6���
� +2 � �+, � !�

  "��� Which of the following statement is 

correct about the development of 

children ? 

[1] Development is a product of 

only hereditary. 

[2] Development follows a random 

pattern. 

[3] Development is a cumulative 

process. 

[4] Different aspects of development 

are not interrelated.�

""�� 	,-�� 	 �� 
�
J��� ' 4 �� � � (� ��2��#�K� �	�
��	��� +,�� �
[1] � , %� 4� 	 � ��� �7� 	 � �� 2 �� # �� 	 ��
[2] 
 �'8 � +	 ��� ��7 �	 � �� 2��# � �	� �
[3] " ��� �7� 	 � ��2 ��# �� 	 � �
[4] �� ��7� 	 � � �� � " ��� �7� 	 � �� 2 ��# �� 	 ��

  ""�� Cattell's culture free test of 

intelligence is a type of : 

[1] Individual Verbal Test 

[2] Group Verbal Test 

[3] Non-Verbal Test 

[4] Verbal and Non-Verbal Test �

"��� ����������� '��� 
�� 	 �,�1
2� 
A9��5'	��� 	2�
����� =���� �+2��+2��+2��+2� ��+,�* �
[1] ' �, � �	 � �� [2] � �� ��� 2�� ��
[3] " � �%� �� [4] 6 ��� ��� � �� +� � �

  "��� Which of the following is not a 

characteristic of creativity ? 

[1] Originality [2] Flexibility 

[3] Rigidity [4] Fluency�

"��� ����������� '��� 
�� 	 �,� 1
�� 	��	 � �����#�1�
"�6��'� ���&%��	��� ������� �� �+2��+2��+2��+2� �	����+,�* �
[1] � ����	 � 	 � �� ����# � �	 �, ��� � �
[2] � ����	 � 	 � �' �� �
	 �
� �
/ %�
[3] � ����	 � 	 � �� �= �% �F ���
[4] � ����	 � 	 � ��� �� 2� �	 �C��

  "��� Which of the following factors does not 

affect the teaching-learning process ? 

[1] Teaching skill of teacher 

[2] Mental health of teacher   

[3] Subject knowledge of teacher 

[4] Physical appearance of teacher�

"#�� �A�(� �I����� '�� � �	
� ��	 ��� 	 �� ���� ���� ���2�
+,�*�
[1] 
 � �� �� 5'	 � �
[2] �� 	 �% �� 5 '	�
[3] 
 � �� �� 5'	 � � �� � ��	 �% �� 5 '	� � �� �� � ��
[4] H � '� � � 
� �	 �� H � ��+2� �

  "#�� What kind of changes does growth 

bring about in children ? 

[1] Structural 

[2] Functional 

[3] Structural and functional both 

[4] None of these�
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� ��	��� 	 �� �����=-� �I����� 	 2�
�������	 �������	�'+�� �8#�� �%��9���+, �*�
�
[1] �� �� � �� �� �� 2� �
[2] 6� 2' � �" � 6��'	 � ���
[3] " � 6��'� " 
' / ����
[4] ' � �� �  �(�

  "$�� 'Acceleration' is an important plan 

for education of which type of 

special children ? 

[1] Gifted 

[2] Slow learner 

[3] Learning disabled 

[4] Mentally retarded�

"%�� 	�%��5'	� ���� �(��� '��� "�6��'	���� 	 2�
��5%�	� 
+2� "� �&%�� 	�� � � ������� 	����
�	
���	 ���	2� � ������" � 
8�2�+,� * �
[1] � �� �� �� " � �� � ��
[2] ��� � �� � ��2� �" � � � ���
[3] � �� �� �� " � ��� �
[4] 
 �� �

  "%�� What type of reinforcement schedule 

is to reinforce each correct response of 

the learner, in operant conditioning ? 

[1] Fixed interval 

[2] Variable interval 

[3] Fixed ratio 

[4] Continuous�

"��� $��	 �
� 9��� "� �,E%� � "��� L�
�� 
� � �,�M� 	2�
���� ��'���"�����NO�� �+,)K�	+�����+,� ��
�
[1] � 
< , � �	 1	 �0 P ���
[2] �� �0 � 4
 '� �� P
- ��
[3] 
 ��� �� �
[4] � A � �2 %�

  "��� 'Development proceeds in the 

direction of longitudinal axis (head 

to foot)', called : 

[1] Cephalic-Caudal 

[2] Proximodistal 

[3] Spiral 

[4] Circular�

"
�� �	� ��	��� 	�� � �(� ��2��#�� 9+�B� �� �� �
	�Q��H�� 
��� 	 2� �A�=-� 
� � 
'��� +�� ��� +,�K�
�	.� � 
'%� �5�� 	��� "� 6�	� '+��� ��%��
9����+, ���
[1] ��� ��� 2 �� # �� �
[2] �� �4 �� �� 2 ��# � �
[3] �� ��7� 	 � �� 2��# � ��
[4] � �=��� � ��� 2��# � �

  "
�� A type of intelligence test in which 

the questions are similar in difficulty 

level but more importance is given to 

the time element : 

[1] Speed Test 

[2] Power Test 

[3] Verbal Test 

[4] Performance Test�

"&�� ����������� '��� 
�� 	�,�1
2� 3%�4�5� � "��	���
	2�3%�4���=Q�� ��6�� � +2�� +2�� +2�� +2� �+,�*�
[1] 
 ���� 5	 � �� �
[2] " � �� � 	 ��
[3] " � 5'	 / ��� �
[4] �� 7�� 
� +� %� �

  "&�� Which of the following is not a 
subjective method of personality 
assessment ? 

[1] Interview 

[2] Observation�
[3] Autobiography 

[4] Word Association�
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[1] " .� � , �% �4 � 	 � �� �.� �� " �� �� 	 ��
[2] " .� �� , %� 4� 	 � �� � .�� �" �� � �	� �
[3] " � �� � 	 �2 %� �� � .�� �" �� � � 	��
[4] " �� ��� �� �� � .�� �" �� � �	 ��

  ���� Meenal is average in intelligence, 

low in creativity and high level in 

adjustment. This is an example of : 

[1] Inter Individual Differences 

[2] Intra Individual Differences 

[3] Observable Differences 

[4] Expected Differences�

�"�� ��8��� ��� ���	���� 	�� 
�F���5'	� ��	�
� +� �  �
�	
� ��	��� 	�� ��QR%& '� 	�� "� �'�� 	��

 S�����%��* �
[1] 
 '�� � ��2 ���QR%&'�
[2] � �� ��=- ���QR%&'�
[3] 
 ��� �� ��QR%&'�
[4] � 	 2J �� ��QR%&'�

  �"�� Which type of curriculum did Bruner 

suggest to follow for the cognitive 

development of children ? 

[1] Inclusive curriculum 

[2] Special curriculum 

[3] Spiral curriculum 

[4] Integrated curriculum�

���� ��	�
� 	�� 
�'��9	1
��
J ��	 � �
(���� 	 ���
�	
�����	 �
���	%��* �
[1] � �% �� � 5
	 2 � �
[2] � �� 4 
� �
[3] 	 � � +R� ��� � �
[4] � � �0 � <� �� � � ���

  ���� Who developed the Socio-cultural 

theory of development ? 

[1] Vygotsky  

[2] Erikson 

[3] Kohlberg  

[4] Bronfenbrenner�

���� �+� '��� ����� 4%�� 	 +���2� +,K� �9
	�� T����
���	 � "���� 
�%�� 	�� "+'R � 	 ��� �	
2� ".%�
3%�4�� 	�� "� C�� �� ����� �� 	���� 	�� ��%�
�
	����+,� * �
[1] � �� �5 '2	 �# �� [2] %  �4 � 	 � #� �
[3] ' ���� .� 2	 � # �� [4] �� �� ��# ��

  ���� What is the mechanism called, 

through which a child tries to  

change his own ego to that of 

someone else ? 

[1] Identification  [2] Rationalization 

[3] Sublimation  [4] Projection�
�#�� ����������� '��� 
� � 	�,�1
�� E�-	� ���<��P�� 	 ��

� �(�
������'�0P� �	 ��"���� �+2��+2��+2��+2� � � +, � *�
�
[1] 
 � �& % �� [2] 
 � F � ��
[3] � �= �%� 
�  � [4] � 5��� �

  �#�� Which of the following component 

is not the part of Guilford structure 

of Intellect model ? 

[1] Operation [2] Cognition 

[3] Content [4] Product�

�$�� � �(� 	�� �����2%� �
(���� 	�� ��������� �	
� ��
�	%��* �
[1] ��P � �� � [2] � �� < �� P ��
[3] 
- �� � �� � [4] � � � ��

  �$�� Who propounded the Triarchic 

theory of Intelligence ?  

[1] Gardner [2] Guilford 

[3] Sternberg [4] Vernan�
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[1] ' , & ��� 

- '� [2] ' �H & � � �

- '�
[3] � 4 9O �� � 

-' � [4] & �� '�� �
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  �%�� 'Family and School' are the examples 

of which environmental system in 

Bronfenbrenner's Bio-ecological 

Model theory ? 

[1] Macro system [2] Micro system 

[3] Exosystem  [4] Chromosystem�

���� ����������� '�� � 
� � 	�,�1
�� % U'� 
+2� � +2�� +2�� +2�� +2�� ��
+, �* �

�
 (� � � � ��
 (� � � � ��
 (� � � � ��
 (� � � � �
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� 
( �� �� 
( �� �� 
( �� �� 
( �� � ����

[1] ��% �9� �
 

[2] � �P  � ��
 

[3] � �� 4
 ��
 

[4] � �% ��� 5 
	 2�

–� 
� F �� �5'	 � � �	 �
�
�
 ( �� ��

–� 
� '� �9	 � " �6��'�
�
 ( �� ��

– '� �� 
 �'� �9	 � � �	 �
�
�
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�

  
���� Which of the following pair is not 

correct ? 

Theory 

Propounder 

Theory 

[1] Piaget 

 

[2] Bandura 

 

[3] Erikson 

 

[4] Vygotsky 

– Cognitive 

Development Theory 

– Social Learning

Theory 

– Psycho-socio 

Development Theory 

– Moral Development

Theory 
�

�
�� ����������� '��� 
�� 	�,�1
2� �	� 
'�%���9� �
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[1] " ��2 � �� '� �" �� � � � �� � 
2 '�"� � � � 	 � � � �� � � '�� �

9 ��V 	 � ��
[2] 
� %� � � �� � � 8 
� �� � � 	 �� 
�' �� �	 �� ��
[3] 
 � � �� �� " �	 �� ��� �B�
[4] 3 %� +� � �' � � �" � �%� ��

  �
�� Which of the following is not the 

characteristic of a well-adjusted person ? 

[1] Awareness of his own potentials 

and limitations 

[2] Respecting himself and others 

[3] Balanced aspirations 

[4] Rigidity in behaviour�
�&�� $$'���
	� 
��
/%� 
� �8#��� 3%�4�5 �� 	 �� �8#���

"�,�� 
�'�9
% �8#��� 	�%� � +, !))�' �� �
	 � 
� �
/ % �
	 2 �% +���� � �� =�� �� 	 
	 � �T �� �� � 2� �H � � +, � * �

[1] ' � �� � �� � [2] +, P < 2� P�
[3] P � ; � ��� [4] � �0 � � -��

  �&�� "Mental health is the full and 

harmonious functioning of the whole 

personality." This definition of 

mental health is given by whom ? 

[1] Menninger [2] Hadfield 

[3] Drever [4] Waltin�
���� ����������� '����,F ���	��� � '��� 
�� 	�,��

��
-��-����
�� 
����6� �� �+2��+2��+2��+2� ��+, �* �
[1] 	 � � +� � � [2] 	 �� > 	 ��
[3] & � �� '� � [4] � � 2� ' ��

  ���� Out of the following Psychologists, 

who is not related with Gestaltism ? 

[1] Kohler [2] Koffka 

[3] Kretschmer [4] Wertheimer�
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�+��� 9��=:���!������ ��(���������������������
�%����-�D�

[1] ��%�� �

[2] ��%�+�

[3] ��%O� �

[4] ��%�+��

#$�� �
!��� 4
��� ��� ��(���� ���� ��@
���� +��� ������
�-�D��

[1] �H!+���@
����+���

[2] 
�������@
����+���

[3] �
=��
���@
����+���

[4] ��(%�J��!������@
����+���
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���� Select the appropriate one word 

substitution for the following : 

Former students of a school or college 

[1] Emblem [2] Alumni 

[3] Expert [4] Incharge�

���� Change the Narration : 

 "I'm taking the children to the 

zoo tomorrow." She said. 

[1] She  told that she would be 

taking the children to the zoo the 

day after 

[2] She said that she will take the 

children to the zoo the next day 

[3] She told that she will be taking 

the children to the zoo 

[4] She will take the children to the 

zoo, she said�

�
�� Choose the correct synonym of : 

 Genius 

[1] Happy 

[2] Cheerful 

[3] Talented 

[4] Comfort�

���� Select the appropriate preposition for 

the blank : 

He has not yet recovered ………. his 

illness. 

[1] over [2] in 

[3] at [4] from�

���� Choose the option that brings out the 

meaning of the underline idiom : 

A lion's share of India's annual 

budget is for defence. 

[1] major share 

[2] minor amount 

[3] small 

[4] very little�

���� Select the correct antonym of : 

 Gloomy 

[1] Praise [2] Coarse 

[3] Cheerful [4] Dismal�

���� Choose the appropriate conjunction 

for the blank : 

I shall not go ………. I am invited. 

[1] and [2] unless 

[3] but [4] there�

� �� Change the narration to Reported 

Speech. Choose the right option : 

 "Who has been using my 

typewriter ?" Said Mother. 

[1] Mother asked who has been 

using her typewriter 

[2] Mother said who was using her 

typewriter 

[3] Mother asked who had been 

using her typewriter 

[4] Mother asked her typewriter was 

being used by who�
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���� Select the correct meaning of the 

underlined phrasal verb : 

Who can say what will turn up next ? 

[1] remember 

[2] divide 

[3] end 

[4] happen�

���� Choose the part of sentence that has 

error : 

she does not / resemble to / either of /  

 A B C 

her parents 

        D 

[1] A [2] B 

[3] C [4] D�

���� Select the correct tense form from the 
options given :  

When I first (come) to this house, it 

(be) a very quiet   area : 

[1] comes, is  

[2] came, was 

[3] coming, is  

[4] come, are�

���� Select the correct tense form from the 
options given : 

Peter (try) to come in quietly but his 
mother (hear) him. 

[1] tried, heard 

[2] trying, hears 

[3] was trying, was hearing 

[4] is trying, hears�

�
�� Change the voice from Active to 

Passive and select the correct option : 

 Bees make honey 

[1] Honey is make by bees 

[2] Bees are making honey 

[3] Honey are made by bees 

[4] Honey is made by bees�

���� Change the voice and select the 
correct option : 

 Somebody has put out the light. 

[1] The light has put out by 

somebody 

[2] The light has been put out by 
somebody 

[3] Somebody has been out to put 

light 

[4] The light is being put out by 

somebody�

���� Select the correct preposition for the 

blank : 

 I shall do it …..…. pleasure. 

[1] in 

[2] with 

[3] about 

[4] over�
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�������������������	�����������������������������	����������
�������������������	�����������������������������	����������
�������������������	�����������������������������	�������� ���������!����������"�
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(��� �+�� ,��%� !-��.� ��� ��&�
�� 	��� ��� /0�
#�.�,��%�!�/��������&�
��/�������
[1] 1��%���� [2] ��%����
[3] �23����� [4] 
�)%.����

  (��� Earth is related to Axis in the same 

way as wheel is related to : 

[1] Tyre [2] Car�
[3] Road [4] Hub�

(��� 	�������,���������!�%'���%����/)���/��
44�/� ��%�� �!��� ��� �!����.� !���.���� !���
/055*�,������	�����������,��%���&��
���
/0�6�

[1] ���7�  

[2] +.+��

[3] ���.+�  

[4] !)��

  (��� Anil introduces Prashant, "He is the 

husband of the grand daughter of the 

father of my father". How is 

Prashant related to Anil ? 

[1] Brother  

[2] Brother in law�

[3] Nephew  

[4] Son�

(��� 	��%���� ��� '�%� ��8/� �.'�� ����� +�� %/�� /0��
#�������� �.�� ���.� �������� ���+0���/0�*�
���7����	���/0��#�������������������������������9�:�1����
�

[1] STUA� �

[2] RQPA 

[3] MLKA� �

[4] HGFA 

  (��� Four groups of letters are given 

below, three of them are alike in 

certain way while one is different, 

choose the odd one :�

[1] STUA� �

[2] RQPA 

[3] MLKA� �

[4] HGFA�

()�� ����� ���� ;�-� ���� ��� 	���� !�� ����
�.�+����

LXF,  MTJ,  NPN,  OLR,   …….. 

[1] PHV [2] PIU�

[3] PJW [4] PKX�

  ()�� Find the next term in the following 

letter series :�

LXF,  MTJ,  NPN,  OLR,   …….. 

[1] PHV [2] PIU�

[3] PJW [4] PKX�
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(*�� ���.� ����'�� �81� ���� '786' ��� 	����
'Study very hard'��'958' ���	����'Hard 

work pays'��'645' ���	����'Study and 

work'������'very'�������2�<���/�����6�
[1] 8 [2] 6�
[3] 7 [4] 5�

  (*�� In a certain code '786' means 'Study 

very hard'��'958' means 'Hard work 

pays', '645' means 'Study and work', 

which is the code for 'very' ?�
[1] 8 [2] 6�
[3] 7 [4] 5�

((�� ����A, B����40� �.1%�����=�-!��'������
/����C, B����40� �.1%�����=�-!8��� ����/����
��� C, A������������������/�����6�
[1] !8��  

[2] !��'��
[3] #$�%-!8��  

[4] ����=��

  ((�� If A is 40 meter South-West of B, C 

is 40 meter South-East of B, then C 

is in which direction of A ?�
[1] East  

[2] West�
[3] North-East  

[4] South�

(��� 150� ��>����������?�%��!"�@��	�0���	���35�
���*� ���� 7����� ��� #$�.=��� ��>���������� ���
	�0��� ,�@����� 39� /��� ����� 	�)$�.=���
��>���������� ��� 	�0��� ,�@����� 15� /���� ����
!%.���� ���� #$�.=��� /����� ����� ��>���������� �.�
�� ��������.�+��� 
[1] 120 [2] 125�
[3] 135 [4] 140�

  (��� The average marks obtained by 150 

candidates was 35. If the average 

marks of passed candidates was 39 

and that of the failed candidate was 

15, find the number of candidates 

who passed the examination : 

[1] 120 [2] 125�
[3] 135 [4] 140�

(��� ���� cbba
yx

== , �	�0%� ac
z

= ,� ����
xyz �������<���/�����6�

[1] abc [2] 1 

[3] 
abc

1
 [4] ab 

  (��� If cbba
yx

== , �and� ac
z

= �� then 

what is the value of xyz ?�

[1] abc [2] 1 

[3] 
abc

1
 [4] ab����

(+�� �/� 9��1.� ��� 9��1.� !8=��� ���� �� ��� ����
�.�+��+���4, 5, 6, 15 �����18 ���!8=�����
������+��/�����

[1] 800� [2] 225�

[3] 900� [4] 361�

  (+�� Find the smallest perfect square 

number which is exactly divisible by 

4, 5, 6, 15 and 18 : 

[1] 800� [2] 225�

[3] 900� [4] 361 
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���� ( ) ( ) 2/32/5
55

−−
× �������<���/�����6�

�

[1] 
25

1  
[2] 

125

1
 

[3] 
325

1  
[4] 

625

1
 

  ���� What is the value of 

                        ( ) ( ) 2/32/5
55

−−
×  ?�

[1] 
25

1  
[2] 

125

1
 

[3] 
325

1  
[4] 

625

1 �

���� ���7��
���'A�-�B�C��+��.��%����15��D���
�����)�)���/���+����/0�������������D���E������/�
#�.�C��+��.��%����8��)���/���+������6�
 

[1] 30 �D�� [2] 40��D���

[3] 60��D�� [4] 45��D���

  ���� A sum of money doubles itself in 15 

years at compound interest. In how 

many years it will become 8 times at 

the same compound interest rate ? 

[1] 30 years [2] 40�years�

[3] 60�years [4] 45�years�

���� ����25�	���.� ���.�F�������60� �������
������1������/0�������10�	���.�#�.�F���
�����������������������1��������6 

[1] 125���� [2] 92���� �

[3] 100���� [4] 150���� �

  ���� If 25 men can reap a crop in 60 days, 

then in how many days will 10 men 

reap the crop ? 

[1] 125�days [2] 92�days�

[3] 100�days [4] 150�days�

���� ���� 5
1

=+
x

x �/��������
3

3 1

x
x + ��������

<���/�����6�
�

[1] 125 [2] 110�

[3] 115 [4] 105�

  
���� If 5

1
=+

x
x ,�then what is the value 

of 
3

3 1

x
x +  ?�

[1] 125 [2] 110�

[3] 115 [4] 105�

�)�� ����� 	��� ;�-� ���� ��� 	���� !�� <����
/�����6�

2,  7,  24,  77,  238, ……..�

[1] 721 [2] 722�

[3] 723 [4] 733�

  �)�� Find the next term in the following 

number series : 

2,  7,  24,  77,  238, …….. 

[1] 721 [2] 722�

[3] 723 [4] 733�
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�*�� ........82828 +++ ���� ���� ����
�.�+��� 

[1] 8 [2] 10�

[3] 11 [4] 4�

  �*�� Find the value of : 

........82828 +++  

[1] 8 [2] 10�
[3] 11 [4] 4�

�(�� ���������.�!"
������)+������50% �.��-�B�
/���+���������7��������F���.�,�������-�B�
�����.�+����

[1] 50% [2] 100%�

[3] 125% [4] 150%�

  
�(�� If each side of the square be 

increased by 50%, then find the 

percentage increase in the area :�

[1] 50% [2] 100%�

[3] 125% [4] 150%�

���� ����− ���	��� ×��+ ���	��� ÷,�÷ ���	��� +��
× ���	��� − /0������15 − 5 ÷ 5 × 20 + 10 

�������<���/�����6�

[1] 70 [2] 78�

[3] 75 [4] 73�

  ���� If × stands for −��÷ stands for�+,�+ stands 

for ÷,�− stands for�×, then what is 

the value of 15 − 5 ÷ 5 × 20 + 10 ?�

[1] 70 [2] 78�
[3] 75 [4] 73�

���� ���.��G�)�����72,000 H!�������&�'���!%�
���.�I��<������20% ��������/�����/0������
#���G�)����A���8(��<�������6�
�

[1] 60,000 HJ [2] 50,000 HJ�

[3] 40,000 HJ [4] 65,000 HJ�

  
���� By selling a commodity for 

Rs. 72,000, a person made a profit of 

20%. What was the cost price of that 

commodity ?�

[1] Rs. 60,000 [2] Rs. 50,000�

[3] Rs. 40,000 [4] Rs. 65,000 �

�+�� �����;�-� ����������0�K���!���������������/0�6�
�
 8, 13, 21, 32, 47, 63, 83 

[1] 13 [2] 32�
[3] 47 [4] 63�

  �+�� Which term is wrong in the 

following series ? 

 8, 13, 21, 32, 47, 63, 83 

[1] 13 [2] 32�
[3] 47 [4] 63 

���� ��� L���� M��� ���.� !-DL���� !%� ���� %��� ���
%��������/0*�	&�7���64 9��1��M������������1��
+���� /0�� ����� ������9��1�� M���/������ �+����
���7��!-DL�%����/)	���/.��/���6 

[1] 24 [2] 16�

[3] 8 [4] 4�

  ���� A solid cube is coloured red on all 

faces. It is cut into 64 smaller cubes 

of equal size. How many small cubes 

have no face coloured ? 

[1] 24 [2] 16�

[3] 8 [4] 4�



� ������� ������
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���� �/�G������ �+����'.�.����.��)	���N�����
�����"�=��	�0%�#(�� �������/0���
�
[1] 	�"��/�  

[2] �)� 

[3] �)H����  

[4] !��.!��

  ���� The place, which was visited and 

mentioned by Chinese traveller Yuan 

Chwang :�
[1] Agroha  

[2] Sugh 

[3] Kurukshetra  

[4] Panipat�

���� �/��+����+/�:�2�������71�!����+����/0���
[1] �/��O�P3  

[2] �)H�"�� 

[3] F%.��&���
[4] !��.!��

  ���� The district, where Dolomite is found :�
[1] Mahendragarh 

[2] Gurugram 

[3] Faridabad 

[4] Panipat�

���� /�%��=��� �%��%��.� �������+������ �/��
/�%��=��� ��� ��G�� !�%��%���� ���
�����+�K	�������2�1���0��%� �����+��%/��
/0�6�

[1] 	�
������!�%��%�#
��������+���

[2] !�%��%�!/'���!�����+�� 

[3] �) ����.�!�%��%���-�B����+���
�

[4] +��	�
��%����+���

  ���� Under which scheme of Haryana 

Government the socio-economic 

data of all the families of Haryana is 

being created ?�

[1] Antyoday Parivar Utthan Yojna 

[2] Parivar Pehchan Patra Yojna 

[3] Mukhyamantri Parivar Samriddhi 

Yojna 

[4] Jan Aadhar Yojna�

�)�� /�%��=��� ��� !�'���.� %�+� ��G���	���� ����
��/��	�����������	�%������.��7���.1�������
,������/0���

[1] 25% [2] 33% 

[3] 66% [4] 50%�

  �)�� Percentage of posts which have been 

reserved for women in Panchayati 

Raj Institutions of Haryana :�

[1] 25% [2] 33% 

[3] 66% [4] 50%�

�*�� �/� �+���� +/�:� !/�.� &�%� /�%��=��� ����
7�-'��������8����������/0���
�

[1] �)H�"�� [2] !�'�)�� 

[3] �/��% [4] %��/���

  �*�� The district, where first time in 

Haryana E-challan has been 

introduced :�

[1] Gurugram [2] Panchkula 

[3] Hisar [4] Rohtak�



������ �������

��	�
��
���� � �

�(�� 4����&�� ��1.� !"��+�<15� ������� ����� +��
%/��/0���
[1] �'J� ��J� 	�7�J� 	�7�J� 2.J� �.J��

/�%��=����%��%�?�%��
[2] +.J���J�2.J��J�� /�%��=����%��%�

?�%� 
[3] �'J� �8J� 2.J� �J�� /�%��=��� �%��%�

?�%��
[4] ��/%.� ������ �������� ���%�� �%��%�

?�%��

  �(�� 'Global City Project' is being 

developed by :�
[1] HSIIDC, Govt. of Haryana 

 

[2] GMDA, Govt. of Haryana 

 

[3] HUDA, Govt. of Haryana  

 

[4] Ministry of Urban Development, 

Govt. of India�

���� �/�	��2���+�����,�����=������#
QD1���/��)�
/�%��=��� %�R��?�%�� ����,����������� �����
+����/0���
[1] O��=��'����	��2�  
[2] �)H�����DL�	��2� 
[3] �/�%�=���,��!�	��2�  
[4] 	+)���	��2��

  ���� The award, which is given to a sport 

coach for excellence in coaching by 

the Haryana State :�
[1] Dronacharya award 

[2] Guru Vashistha award 

[3] Maharana Pratap award 

[4] Arjuna award�

���� ����F���.� �-�D1���� /�%��=������ ���%������
G�����/0���
[1] 11��: [2] 21��: 
[3] 15��: [4] 18��:�

  ���� The position of Haryana in India in 

respect of area is :�
[1] 11th [2] 21st 

[3] 15th [4] 18th�

�+�� ����F�� �.� �-�D1� ��� �M�)��� ���� +.��
	����%=��/0���
[1] ���=2�����
[2] ��/% 
[3] �%G��.�
[4] �9��9�� 

  �+�� The smallest (in term of area) wild 

life sanctuary is :�
[1] Bhindawas 

[2] Nahar 

[3] Saraswati 

[4] Chhilchhila�

+��� /�%��=������� %�R��,��������� ���
����,�) ��
/0����
[1] %�R������) ����.�
[2] ������.��	��)<� 

[3] %�R������/��
��<���
[4] %�R�����%�R�!�� 

  +��� The de jure head of the State 

Administration in Haryana is :�
[1] Chief Minister of the State  

[2] Divisional Commissioner 

[3] Advocate General of the State 

[4] Governor of the State�
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�����
��������
�������������
����	������	
�������
������
����

���� !��"#�	��	��	���$%�	&'	�	

[1] �'(�#)*�	�
		 	

[2] �+�
*	�
	

[3] &�"��	�
	 	

[4] *
��	*
���	�
		

 
 ���� Thomas Cup is related to : 

[1] Badminton  

[2] Cricket 	

[3] Hockey  

[4] Table Tennis  

���� ����	,���	��	&-�	*.*��	�&����	&'	�	
	

[1] ��/��
*
(	0'1��	

[2] �����)(	0'1��	

[3] �����	0'1��	

[4] ����
�	#
�	�
	��
2�	�&��		

 
 ���� The Fracture without any wound is 

called : 

[1] Communated Fracture  

[2] Compound Fracture 

[3] Simple Fracture 

[4] None of the three 

�#�� ����	 #
�	 �
	 ��'�-��	 ��
�	 �����
�)�	 ��	
��3�$�	�&���&���&���&��		&'	4	

[1] ����	��	�56�
���		

[2] �+/�	��	�#�7/�/��	

[3] �����
�)�	��	���������	 	

[4] ���$����	

 
 �#�� Which among is not the principle of 

sport training ? 

[1] Progression of load   

[2] Economy movement	

[3] Cyclicity of training  

[4] Continuity 	
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 �$�� "Trial and Error Method" is given  

by : 

[1] Pavlov  

[2] Wood worth  

[3] Thorndike  

[4] None of the three 
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 �%�� In the School the major channel of 

publicity for the physical education 

programme is : 

[1] Teachers 	

[2] Students 	

[3] Advertisement	

[4] Intramurals  
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 �&�� Decathlon consists of : 

[1] 6 track and 4 field events 	

[2] 4 track and 6 field events	

[3] 3 track and 7 field events	

[4] 7 track and 3 field events 

���� >�C����	�+/�	2�	��#	�
	���	D���	D���	
&'	�	
[1] �&�����	%��'��	
[2] ��E���	%��'��	
[3] ������	%��'��	
[4] ��&F�G�	%��'��	

 
 ���� Agnisar Kriya also known as : 

 

[1] Vahnisar Dhauti 

[2] Vatsar Dhauti	
[3] Varisar Dhauti 

[4] Bahishkrit Dhauti	
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 ���� How many Bye's in twenty seven 

teams are ? 

[1] Total 8 byes  

[2] Total 5 byes	
[3] Total 7 byes 

[4] Total 4 byes	
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 ���� Skin fold measurement is measure 

for : 

[1] Body Composition 

[2] Flexibility  

[3] Strength 

[4] Speed 
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 ����� "Ahinsa" is a part of : 

[1] Yam  

[2] Niyam	

[3] Asana  

[4] Pranayama	
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����� Physical Education is important 

because : 

[1] It helps to think positively.  

[2] It helps to promote brotherhood.  

[3] It helps to lead a healthy life. 	
[4] It helps to lead a quality life.  	
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 ����� Apurvi Chandela is related to : 

[1] Shooting 

[2] Judo  

[3] Karate  

[4] Taikando  
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 ��#�� Paralympics Games earlier known as : 

[1] Pan Hellenic Games 

[2] Stoke Mandeville Games	

[3] Spartakiad 

[4] Disabled Games 
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[1] 2.50	��L���L	

[2] 2.00	��L���L	

[3] 2.75	��L���L	

[4] 2.25	��L���L	

 
 ��$�� Weight of discus for men is :  

[1] 2.50 kg 

[2] 2.00 kg 

[3] 2.75 kg 

[4] 2.25 kg	
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 ��%�� Injury of Ligaments is : 

[1] Strain	
[2] Sprain	
[3] Contusion 	
[4] Abrasion  
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 ��&�� Pythians Games are related to : 

[1] Athens Period   

[2] Sparta Period 

[3] Homeric Period  

[4] None of the three 
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 ����� "Sthir Sukham Asanam" is a 

definition of : 

[1] Dharana 

[2] Pratyahar	

[3] Pranayam 

[4] Asana	
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 ����� First Modern Olympic Games were 

held at : 

[1] Sparta    

[2] Athens 	

[3] Germany  

[4] Denmark  
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 ����� "Golden Period" of Physical 

Education : 

[1] Later Athenian Period  

[2] Sparta Period 

[3] Homeric Period 

[4] None of the three 
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 ����� Shri Hanuman Vyayam Prasarak 

Mandal is situated at : 

[1] Nagpur 	

[2] Amravati 	

[3] Patiala 	

[4] Chennai 
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 ����� What is Shitkari ? 

[1] Yam  

[2] Niyam	
[3] Asana  

[4] Pranayama 
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 ����� The first step in the treatment of 

sports injuries is : 

[1] Cryotherapy 	

[2] Hydrotherapy	

[3] Electrotherapy 

[4] Thermotherapy	
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��#�� Which is the common objective of 

Education and Physical Education ? 

[1] Neuro Muscular Development 

[2] Physical Development	
[3] Development of Sports 	
[4] Mental Development 	
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 ��$�� Indira Gandhi Physical Education 

and Sports Sciences situated at : 

[1] Mumbai  

[2] New Delhi	
[3] Chennai  

[4] Kolkata  



������ ���$���

��	�
��
���� � �

��%�� >D���	���?���	��	���K>��	&�2�	�	

[1] 1951	#
�	

[2] 1955	#
�	

[3] 1961	#
�	

[4] 1971	#
�	

 
 ��%�� Arjuna Awards started in : 

[1] 1951	

[2] 1955	

[3] 1961	

[4] 1971 

��&�� �����
�)�	 #
�	 #�2+�
��2���	 ��	 >��%�	 &�
��	
&'	�	
[1] ���	�O��&	
[2] 15	���	
[3] 2	�
	3	���	
[4] 5	�
	10	���	

 
 ��&�� Duration of Microcycle of training  

is : 

[1] Four weeks  

[2] 15 days  

[3] 2 to 3 days  

[4] 5 to 10 days  
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 ����� The most important factor in 

selecting the sports equipments is : 

[1] Price 

[2] Source  

[3] Utility 

[4] Quality	
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 ����� Effect of Massage on Body is : 

[1] On Skin  

[2] On System 	

[3] On Blood Circulation  

[4] All of the three 
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 ����� The study of bones is called : 

[1] Arthrology  

[2] Osteology	

[3] Myology 

[4] None of the three	
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����� Sports sociology deals with : 

[1] Team cohesion  

[2] Function of the body  

[3] Mental training 

[4] Motivation 
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 ����� "Yogaschitta vritti ch Nirodhah" 

definition is given by : 

[1] Ved Vyas   

[2] Gandhi Ji	
[3] Shri Krishna   

[4] Patanjali 
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 ����� The use of a particular method of 

teaching depends upon ? 

[1] Sex of the teacher  

[2] Skill of the teacher 	
[3] Age of the teacher 

[4] None of the above	
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 ��#�� Which law of learning is also called 

the law of use and disuse ?  

[1] Law of exercise  

[2] Law of readiness 	
[3] Law of effects  

[4] Law of intimacy��
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 ��$�� "Psycho Physical Unity of Man" is : 

 

[1] Mind and Body Development	

[2] Body and Bones Development	

[3] Body and Heart Development	

[4] Soul and Muscles Development 
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��%�� The importance of wellness is : 

[1] It helps to lead quality life. 

[2] It helps to extend co-operation to 

others.   

[3] It helps to satisfy your need.   

 

[4] It helps to inculcate good habits. 	
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 ��&�� In case of sprain, the best immediate 

treatment is : 

[1] Hydro therapy  

[2] Heat therapy  

[3] Ice therapy  

[4] Mud therapy	
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 ����� Length and Breadth of Volleyball 

Court is : 

[1] 18 m T 9 m 

[2] 20 m T 10 m	

[3] 16 m T 8 m 	

[4] None of the three 
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 ����� Michael Jordan is related to which 

game ? 

[1] Rugby	

[2] Football	

[3] Hockey	

[4] Basketball  
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 ����� Equilibrium depends : 

[1] Wider base of object  

[2] More height of object 	

[3] Light weight of object  

[4] Narrow base and light weight of 

object	
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 �#��� The most effective method of 

teaching physical skill is : 

[1] Demonstration method  

[2] Imitation method  

[3] Trial and error method 	

[4] Mirror method 	
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 �#��� Santosh Trophy is related to : 

[1] Hockey 	
[2] Football 	
[3] Cricket	
[4] Badminton 
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 �#��� The term "Double Fault" is used in : 

[1] Table Tennis 	

[2] Volleyball 	

[3] Tennis 	

[4] Badminton	
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 �##�� Kyphosis deformity is also called : 

[1] Hollow back  

[2] Round back  

[3] Lateral back  

[4] Straight back 
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�#$�� 'Kinesiology' is a study of : 

[1] Human motion  

[2] Motor movements 

[3] Physical fitness   

[4] Anthropology  
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�#%�� "Kumbhak" is related to : 

[1] Pratyahar   

[2] Pranayam 

[3] Dhyan  

[4] Dharana 
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 �#&�� The Olympic Games are held every : 

 

[1] Third year	
[2] Fifth year 	
[3] Fourth year 	
[4] Second year  
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 �#��� "Akhada" is related to : 

[1] Football 

[2] Judo	
[3] Wrestling  

[4] Boxing 
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 �#��� Physical Teachers have qualities of : 

[1] Proficiency  

[2] Personality 

[3] Leadership	
[4] All of the above 	
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 �#��� When did the Olympic Oath 

introduced for the first time ? 

[1] 1912 at Stockholm  

[2] 1920 at Antwerp 	
[3] 1928 at Amsterdam  

[4] 1936 at Berlin  
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 �$��� Dronacharya Award is given to : 

[1] Organizers   

[2] Players	
[3] Coaches   

[4] Officials  
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[1] �+�
*	�
	 

[2] B�*���	�
	
[3] &')(���	�
	 

[4] �'����	�
		

 
 �$��� Back Stroke is related to : 

[1] Cricket  

[2] Football 	
[3] Handball  

[4] Swimming  

�$��� #��F/	�
	 �����	#
�	>�%���#	����
��	&�
�
	
&'�	�	 	
[1] ��!�#	M
)��	 	
[2] �.���	M
)��	
[3] �����	M
)��  

[4] ��'!��	M
)��	

 
 �$��� The majority of lever in human body 

are : 

[1] First class  

[2] Second class	
[3] Third class  

[4] Fourth class	

�$#�� 8����	��
��:	����$%��	&'	�	
[1] �'(�#)*�	�
		
[2] *
��	*
���	�
 
[3] D.(�
	�
			
[4] ��2��$(�
	�
	 

 
 �$#�� "Ping Pong" is related to : 

[1] Badminton 

[2] Table Tennis	
[3] Judo  

[4] Taikando 

�$$�� ��������	�+/�>�
�	�
	#��
�'=����	>�%���	��	
>%//�	&'	�	
[1] ���	#��
��=��	
[2] ���
��	#��
��=��	
[3] ��
�	#��
��=��	
[4] >���%�-��=�� 

 
 �$$�� Study of psychological foundation of 

Physical Activity : 

[1] Child Psychology	
[2] Educational Psychology 	
[3] Sports Psychology	
[4] Criminology 

�$%�� 8(�2�'�#�:	��V�	��	���$%�	&'	�	
[1] ��	�
	 	
[2] ��/�	�
	
[3] �#��#	�
	 	
[4] �������	�
	

 
 �$%�� "Dynamic" word is related to : 

[1] Force   

[2] Work 	
[3] Endurance   

[4] Flexibility  
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[1] �F��Z	 #&���	 �!��	 ���	 #
�	 �#�	 ��	

>���7/�1�	
[2] &�(E(/�
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[3] /�'�������	�
	���
���
	[���	��%������		
	
[4] ���3	�
	���
�)�	[���	��%������	

 
 �$&�� What is chronological age ? 

[1] Age in Years, Month and Days

  

[2] Indicate by Bones and Dentition  

[3] Determined by the signs of 

Puberty 

[4] Determined by using 

intelligence tests  

�$��� >�2��
*�
���	7/�/�#	��	���$%�	&'	�	

[1] �������	�
		

[2] �#��#	�
	

[3] ���1�	�
	

[4] ���	�
	

 
 �$��� Isotonic exercises related to : 

[1] Flexibility	

[2] Endurance  	

[3] Strength	

[4] Speed 

�$��� X���
���Y	��	��
*	&'	�	

[1] J���	��	

[2] &(E(�	��	

[3] ����#
$*	��	

[4] #����
���	��	

 
 �$��� 'Abrasion' is an injury to the : 

[1] Skin 

[2] Bone  

[3] Ligament 	

[4] Muscles  

�$��� 8B�*��
�	�����
�)�:	��	���$%�	&'	�	
[1] ���1�	�
	
[2] ���	�
 
[3] �#��#	�
		
[4] �������	�
	

 
 �$��� "Fartlek Training" is related to : 

[1] Strength 

[2] Speed 	
[3] Endurance  

[4] Flexibility 

�%��� ���	�
	�����	��	���%�/�@	&'�	�	
[1] J��)�	��'(6  

[2] �
�	��'(6	
[3] J��)�	��'(6	�	�
�	��'(6 
[4] ����
�	#
�	�
	��
2�	�&��		

  
�%��� Method of speed development are : 

[1] Acceleration run  

[2] Pace run 	
[3] Acceleration run and Pace run 

[4] None of the three  
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